

List of students benefitted by Govt Scholarship/Institutional Scholarships

2017-2018

P.O.Mathil, Payyanur , Kannur Dist-670307, Tel : 04985 281500 Email : gurudevcollege@gmail.com www.gurudevcollege.org

2017-2018 RECIPIENT LIST(FRESH)

S r	Applica tion Id	Name/Father' s Name	Mobile	Course Name	Name of Scheme
1	KL201 718000 681083	ASIN SUNNY / SUNNY PHILIP	XXXX XX5621	BACHELOR OF SOCIAL WORK(SOCIAL WORK)	POST MATRIC SCHOLARSHIP SCHEMES MINORITIES CS
2	KL201 718001 645378	SANIL KUMAR P K /SATHYAN K P	XXXX XX6012	BACHELOR OF COMMERCE(COMPUTER APPLICATIONS)	POST MATRIC SCHEME FOR AWARD OF SCHOLARSHIPS UNDER BEEDI WORKERS WELFARE FUND
3	KL201 718002 619738	VIPINRAJ C K /VIJAYAN C K	XXXX XX1065	BACHELOR OF SCIENCE(ELECTRONICS)	POST MATRIC SCHEME FOR AWARD OF SCHOLARSHIPS UNDER BEEDI WORKERS WELFARE FUND
4	KL201 718002 620181	NITHIN RAJ V V /RAJAN K V	XXXX XX6653	BACHELOR OF BUSINESS ADMINISTRATION(BUSINESS MANAGEMENT)	POST MATRIC SCHEME FOR AWARD OF SCHOLARSHIPS UNDER BEEDI WORKERS WELFARE FUND
5	KL201 718002 668586	SIDHARTH P K /MADHAVAN A	XXXX XX7287	BACHELOR OF SCIENCE(COMPUTER APPLICATION)	POST MATRIC SCHEME FOR AWARD OF SCHOLARSHIPS UNDER BEEDI WORKERS WELFARE FUND
6	KL201 718002 884479	JITHIN PRAKASH P T / PRAKASHA N A V	XXXX XX5791	BACHELOR OF SCIENCE(MICROBIOLOGY)-3 YEARS	POST MATRIC SCHEME FOR AWARD OF SCHOLARSHIPS UNDER BEEDI WORKERS WELFARE FUND
7	KL201 718003 841299	SANDRA MATHE W /MATHE W JOSEPH	XXXX XX2301	BACHELOR OF SCIENCE(CHEMISTRY)	POST MATRIC SCHOLARSHIP SCHEMES MINORITIES CS
8	KL201 718003 874234	RESHMI /RATHNAKA RAN B V	XXXX XX9097	BACHELOR OF SCIENCE(MICROBIOLOGY)-3 YEARS	POST MATRIC SCHEME FOR AWARD OF SCHOLARSHIPS UNDER BEEDI WORKERS WELFARE FUND
9	KL201 718005 036534	KAVYASREE C /DAMODARA N M	XXXX XX2186	MASTER OF COMMERCE(M.COM)	POST MATRIC SCHEME FOR AWARD OF SCHOLARSHIPS UNDER BEEDI WORKERS WELFARE FUND
10	KL201	ROBIN	XXXX	MASTER OF	POST MATRIC

	718007 545912	ROBERT /ROBERT K J	XX5264	COMMERCE(M.COM)	SCHOLARSHIP SCHEMES MINORITIES CS
11	KL201 718008 351306	ATHIRA P /KRISHNAN P	XXXX XX7634	BACHELOR OF ARTS(ENGLISH)	POST MATRIC SCHEME FOR AWARD OF SCHOLARSHIPS UNDER BEEDI WORKERS WELFARE FUND
12	KL201 718008 686139	RAJALAKSH MI V R /RAJAN V	XXXX XX8964	BACHELOR OF ARTS(ENGLISH)	POST MATRIC SCHEME FOR AWARD OF SCHOLARSHIPS UNDER BEEDI WORKERS WELFARE FUND
13	KL201 718008 841905	SARATH K V /SASEENDRA N M V	XXXX XX1269	BACHELOR OF COMMERCE(COOPERATION)	POST MATRIC SCHEME FOR AWARD OF SCHOLARSHIPS UNDER BEEDI WORKERS WELFARE FUND
14	KL201 718010 344965	DHILSHAD M /K P ABDUL RAHEEM	XXXX XX3911	BACHELOR OF COMMERCE(COMPUTER APPLICATIONS)	CENTRAL SECTOR SCHEME OF SCHOLARSHIPS FOR COLLEGE AND UNIVERSITY STUDENTS

2017-2018 RECIPIENT LIST(RENEWAL)

S r . #	Applicat ion Id	Name/Fathe r's Name	Mobi le	Course Name	Name of Scheme
1	KL2015 160047 48453	ANJUSHA K /BHASKAR AN K K	XXX XXX 6424	BACHELOR OF SCIENCE(MICROBIOLOG Y)-3 YEARS	POST MATRIC SCHEME FOR AWARD OF SCHOLARSHIPS UNDER BEEDI WORKERS WELFARE FUND
2	KL2016 170026 95659	REHNA P /RAVEEN DRAN T P	XXX XXX 0354	BACHELOR OF SCIENCE(MICROBIOLOG Y)-3 YEARS	POST MATRIC SCHEME FOR AWARD OF SCHOLARSHIPS UNDER BEEDI WORKERS WELFARE FUND
3	KL2016 170044 29512	NEERAJA K /NARAYA NAN K	XXX XXX 1708	BACHELOR OF BUSINESS ADMINISTRATION(BUSIN ESS MANAGEMENT)	POST MATRIC SCHEME FOR AWARD OF SCHOLARSHIPS UNDER BEEDI WORKERS WELFARE FUND
4	KL2016 170102 04337	JOMAL GEORGE /GEORGE JOHN	XXX XXX 3378	BACHELOR OF SCIENCE(MICROBIOLOG Y)-3 YEARS	POST MATRIC SCHOLARSHIP SCHEMES MINORITIES CS

GOVERNMENT OF INDIA SCHOLARSHIP FOR SC/ST STUDENTS

			RENEWA	ANNEXURE RENEWAL FROM 2016-17 TO 2017-18				\wedge	
SI No	Name of Student	Name of institution and Course	Course	Tution Fees	Exam Fees	Others	Total	Account No. & IFSC Code	
1	Prajith Ram T	St.Joseph College, Pilathara	BA English II Year	18000	790	300 X 10 = 3000	21790	67281490325 SBIN0070259. SBI Payyannur	
2	Athira B V (Hosteller)	Cresent College of Nursing, Ramapuram	BSC Nursing II Year	7000		820 X 10 = 8200	78200	67199906543 SBIN0070314	
3	Gokul Kumar V	Gurudev Arts & Science College, Mathil	BSC Bio Chemistry II Year	39000	790	300 X 10 = 3000	42790	42622250009980 SYNB0004262 Kodakkad Syndicate Bank	
4	Urmila C	, ,	II BCOM	18000	790	300 X 10 = 3000	21790	31861067465. SBIN0004686	
5	Jishnu M P	,,	пвва (ттм)	18000	790	300 X 10 = 3000	21790	67209833053 SBIN0070259 SBI Payyannur	
6	Prasanna P C	College of Nursing Kannur Medical College	BSC Nursing II Year	70000		820 X 10 = 8200	78200	67213506553 SBIN0070251 SBI Cherupulassery	
7	Shamina E	Pilathara Co-Op: Arts & Science College	П ВВА	18000	790	300 X 10 = 3000	21790	32854148187 SBIN0002260 SBI Nadakkavu	
8	Soorya P	College of Engineering & Technology, Payyannur	B Tech III Year	35000	3400	3600+550x10 = 550	43900	67378672715 SBIN0070202 SBI Pappinissery	

Name of Scheme	Name of Student
Archbishop Mar Ivanios Educational Scholorship	Jishnju Prakash
Archbishop Mar Ivanios Educational Scholorship	Aiswarya S
Archbishop Mar Ivanios Educational Scholorship	Sanitha M V
Archbishop Mar Ivanios Educational Scholorship	Silpa T P
Archbishop Mar Ivanios Educational Scholorship	Gana Krishna Subhu
Archbishop Mar Ivanios Educational Scholorship	Laya R Acharya
Bishop Dr. Joseph MAR THOMAS Community Scholarship	Dincy Mol T
Bishop Dr. Joseph MAR THOMAS Community Scholarship	Anoop M S
Bishop Dr. Joseph MAR THOMAS Community Scholarship	Nivya Joseph
Bishop Dr. Joseph MAR THOMAS Community Scholarship	Anju Thomas